Problem-Solving Strategy:

Look for a Hidden Assumption
Problem collections often feature this:
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1.  Draw four straight connected line segments 

(  (  (
through these nine dots without lifting the pencil.
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Hidden assumption: that segment lengths are bounded by the square.

The next problem is less well-known, but another restriction imposed 

by the solver gets in the way of most who attempt it.
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2.  Draw as many squares as possible whose vertices 

(  (  (  (
are dots of this 4 ( 4 grid.  How many are there?
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The assumption will be found by many students only 

when told that an answer of 14 is merely a good start.

3.  This riddle is another popular example of solver-imposed restriction.


“The Great Zambo was a circus aerialist, working on the high-wire with trapezes, poles, bicycles, and so on, but without safety nets.  One fateful day, alas, the Great Zambo takes the great plunge.  The Great Zambo’s will leaves everything to any surviving relative.


“Soon, a young man appears at the lawyer’s office and proves that he is the Great Zambo’s grandson and the only surviving relative.  As the lawyer is about to have this sole heir sign the papers, the lawyer’s secretary bursts into the office and proceeds to prove that the Great Zambo was not the grandfather of the would-be heir.


“Both the young man and the secretary are correct.  How?”

4.  Most challenging is the E’s Puzzle, adapted 

from Bob Stanton.  Here is a large letter E and 

two other figures.  Combine all three figures 

(rotating them as much as you like, but not 

flipping or overlapping them) to form another E 

of the same shape and size.  (Hint: copy and cut 

out the figures and try.  AND: remember the 

strategy: look for a hidden assumption.

Answer to #2 above: 20.  Were there two hidden assumptions?

